P-H{i+141H/13
2013
ZOOLOGY. {Honours)
Third Paper

Full M&rks 190 - cuiw Time : Four Hours
The figures in the margin indicate fill marks.
Group ~A

- {Cel-Biology and Histoiogf)
1 Answer any foir qaesﬁons . o, 2x4=8§
{a)y: What is Sveéberg wit?
) D@fﬁ‘le aeﬁ ine.

) Dzstmgmsh between bemgn and malignant tumor.
(d) Distinguish between _phagacy!cszs and
pinocytosis, .
(e) Give the sources of Haematosylin and Carmine.
_ f) Give diﬂ'ercncss between dye and stain.
2. Answer any four. questions + St 4xd4=16
:.{a} “Mitockondrial epzymes -are highly
compartmentalized™— discuss.
(b} List some generalized functions of cytoskeleton,
{¢} Write a note o the finction-of Na* K*-ATPase.
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{(d) Give the ionic basis of resting membrane
potential. How resting membrane potential is
mentioned 7

{e) Give a nofe on endocytic pathways with the heip

of suitable diagrammatic display.
(f) Give a niote on the chemical basis of stammg,
.- Answer any fwo- questions : : 10Yx2721.

{a} Explain the role of cytoplasmic determinants in
cell differentiation. Write, a note. o1 mmiemﬁar
mecharism of cali dxﬁereﬁtiahen é@%yg-—}é’)%

(b} Write the nameé of two pmtononcegefzes of :
human. What role the' proto-oncopenes play 2
Describe the mechanisms by which normal
cellular proto-oncogenes can be converted 1o
“celhilar oncogenes.’ 2H2at6=100

{c) Distinguish between ahﬁ recepwr of a.
protinhormone and 2 steroid hormone. Pescribe
the mechanism of action of a steroid hormone.

2/2%8*!&‘/2 '

(d) stcuss on d1f"erent types of fixatives used in-
histology. State the principles of ixation. L

Th4+3=10%
Gronp - B : '
_ {Genetics and Imm_nnology) _
- Answer any four of the following : : 2>.<4x_8’__
(a) What is plasmid ? Give an example.
(b) What are the criteria for Law of segregation ?
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{¢) What is maternal effect 7

(&) Parental blood group is AB and A, is there any
* possibility of getfing ‘0" blood group’s child 7

(¢) Mention the functions of NK cells.
(f} What is hypervariable region 7
Answer any four questions ' 4x4=16

{2} Write a note on causes and effects of Tumer’s
syndrome;

by Write & short note on primary and secondary
non-gigiunction.

{c) What is complement systern 7 Explain in short.

" {(d) Prove that éressing over occur at four-strand

6.

stage. _ _

{e} Describe exira. nuclear inheﬁtancé—taking the

example of Kappa Particle. )

(D -Write a.short note on immunological memory.
Answer any fwo of the following = - 10%4x2=21
(a) Distinguish between paracentric and pericentric

inversion. Discuss how inversion causes
chromosomal mutation, _ . 2%+8=10Y

(b) Assume that in Drosophila there:are three pairs

3/39- 373

wof alleles, +/x, +/y and. +/z. As shown by
' PT.O.
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symbols, each mufant gene is recessive fo it's
wild type allele. A cross between female
heferozygotes at these three loci and wild-type

males vielded the following progeny.
Female +++ — 1010
Do — 39
g — 430
oz 3
Xt - 27
xyt  — 441
wz — 31
2010

Draw the appropriate linkage map for these data
showing the order of the three markers and the
map disiances for each marked interval.”
Caloulate the coefficient of coincidence for these

data.

I A 2=10%

(¢) What ‘ar¢ cytokinés 7 Wiite about’ general
structures and properties of cytokines 7 Explain
in short the function of cytckiries.

T 2e+2Y=104

(d) What are different immunoglobulin domain ?
Describe with suitable diagram how does a
typical antibody function in terms of variable and

" gonstant domains.’

2¥+8=10%
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Gmup A
(Ecelagy} o
1. Answez any four questions 2%4=8
(2} What is ecotype 7° '
(b) Define carrying capacity.
(© What do you mean by edge effect 7 .
(d} Whatxs social parasite 7 . :
(¢) What is stenothermy 2 Give examp!e

(f). Define: denitrification. Give an example of a
bacterium.

2. Answer any. four questions : 4x4=16
(@) Explain the Lotka-Voltera cquation of predation
(b) Explain Cyclomiorphosis. :
(c) Give a dlagraamauc rcpresentauon of: Nitrogen
cycle.

{d) Mentmn the monoclymex and poiyclymex theorv
of ecological succession.
PT.0O.
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{e} Write a nofe on potentisl and realised natality.
(£ Describe the biclogical characteristics of Tundrs
Biome, -
3. Answer sny fwe Guestions
(&) What is succession ? ‘Discuss the mode of
succession in an aree of Sand dunes,
) ' . 1He=10Y,
(b} Define ecological pyramid. Classify it with proper
examples. What do you mean by inverted
pyramid ? When is it found™? Why ‘energy
pyramid is more realistic than. others.? .
. 1a+3+1+2+3=10%
(<) Describe the Y’-shaped model of energy flow
in an ecosystem. Why is this model reafistic than
Box-pipe model of energy flow ? Why energy -
- flow is unidirectional 2. TH2ETVE=10Y,
{d). Explain ‘habitat niche trophic ‘niche and
hypervolume niche with suitable examples. What
is niche width 2. .. = 343451 =104
. Group - B :
{Zoogeography, Wildlife and Biodiversity)
4. Answer any four questions : S 2x4=3§
(a) What is ‘living fossil’ ? Give an example.
(b) Which geological period is considered as the
‘age of fish™ and why ?




{3)

(g} Name two characteristics mammalian

represeniatives of oriental Realm,
{d) Define continental drift,

{e) Wiite role of CBD and ICBP in wild life

conservation.,

{f; What do you mean by endangered species 7

. Answer any four:gitestions ;- 4x4=16

. (&) Name the different types of fossils and comment

on how petrified fossils are formed.
(b) What is the significance of study of
Zoogeography ?

() Define and explain the continuous and
discontinuous distribution of animals and cite
_ examples.

(d) Differentiate ¢-diversity, [-diversity and y-

o

3440 -375

diversity.

{¢) How National Park differs from Wild Life
Sanctaary ? ‘ . ,

() Write 2 short note on-biological magnification.

. Answer any two questions

{a} What is geological time scale ? Discuss the
important developments in famal evolution during
each ‘era’ of the geological time sacle.

: : 1%4+9=10%
BT.0.
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(b} What do you understand by barriers of animal
distribution ? Discuss how geographical barriers
limit the expansion of animal femitory, '
S 2U5+8=10%
{¢) Mention the location and {aunal composition of
any one Megadiversity zore it India, 10%

{d) How conservation differs from management ?
State briefly the canses. of depletion of Wildiife
in India. Discuss briefly the conservation

stategies of Wildlife, -~ 2+4+414-101,




